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B E K F £ (D
L4 SEFIAIESE O BRABIAE K E SE BT L E (RT)
4 M # Hro S | BT
EEVIN EEVIN EEVIN EEVIN EEVIN Fa7K ik ik ik ik
b b 1 2 3 4 5 6 1 2 4

BHO. 2m3

) VR |- 119.83 + 31.19 109.10 + 1.97  + 138.97 87.07 137.39 82. 30 27.41 10.47 =] 745.70| m3
BHO. 2m3

B A VAL 119.83 + 31.19 109.10 + 1.97  + 138.97 87.07 137.39 82. 30 27.41 10.47 =] 745.70| m3
DT 2t

#OE L e 40.52  + 11.46 37.90 + 0.76 _+ 53.02 27.55 49.12 32.12 10. 02 3.56 =| 266.03| m3

#OE L il 68.11 + 17.21 67.90 + 0.95 + 90.97 59. 34 58. 24 43.31 15.99 6.91 = 428.93| m3
DT 2t

sy A VA A 51.72 + 13.98 41.20 + 1.02  + 48.00 27.73 79.15 38.99 11.42 3.56_ =| 316.77| m3

AT

N

) VAt 9.78 = 9.78| m3
N

A VA A 9.78 = 9.78| m3
N

R L PREERD 3.33 = 3.33| m3
N

R L it 1 6.45 = 6.45) m3
DT 2t

WA VIE 3.33 = 3.33] m3




B E B B £ @D
L4 SEFIAIESE O BRABIAE K E SE BT L E (RT)
4 M # Hro S | BT
EEVIN EEVIN EEVIN EEVIN EEVIN Fa7K ik ik ik ik
AlEEEIM T 1 2 3 4 5 6 1 2 3 4
ikl T=15cmbh F 22.8 + 25.0 13.0  + 5.8 6.2 404. 6 55. 6 12.2
158.6  + 6.2  + 7.0 10.0 19.6
+ + 4.2 3.2
+ + 18.0
+ + 18.0
+ + 4.0
181.4 + 25.0 19.2  + 0.0 57.0 6.2 414.6 78. 4 12.2 0.0 794.0] m
AHLEIE L
BN T—T A2y t=3cm + + 2.8 2.5
BN T A2y t=4cm 9.1  + +
FEAKPENTT 3y t=5cm 63.4 + 3.1 5.2+ 7.2 161.8 22.2 4,90
73y t=4cm + + 2.3
i
HETAT 7 b t=5cm + + 11.7 12.7
i
HRIET AT 7 b t=3cm + + 2.6 2.1
F RS R KM t=4cm + 2.5+ 1.7 4.0
ASEHHERR
t=15cmPA F 72.50 +  3.10 7.70 _+ 0.00 28. 30 2.50 165. 80 37. 00 4,90 0. 00 321.80| nf
xR t=3cm 4.6+ 4.0 12.8  + 2.2 5.8 6.3 7.6
avy)=h t=10cm 4.6+ 4.0 12.8 + 2.2 5.8 6.3 7.6
Cofi %t
t=15cmPh F 9.20  + 8.00 25.60 +  4.40 0. 00 0. 00 11. 60 12. 60 15.20 0. 00 86. 60| nf
FiilE
BN T—T A2y t=3cm + + 2.8 2.5 5.30| of
BN T-T A2y t=4cm 9.1  + + 9.10| nf
FAKIENTT A3y t=5em 63.4 +  10.0 5.2 + 7.2 161.8 22.2 4.9 274. 70| nf
i
HIETAT 7 b t=5cm + + 11.7 12.7 24. 40| nf
i
HRIET AT 7 b t=3cm + + 2.6 2.1 4.70| nf
AR R T KA t=4cm + 2.5+ 1.7 4.0 8.20 nf
TAY t=4cm + + 2.3 2.30] nof
it A
s t=5em 4.6+ 4.0 12.8 + 2.2 5.8 6.3 7.6 43.30] nf
FE BV £=3cm 4.6+ 4.0 12.8 + 2.2 5.8 6.3 7.6 43.30| nf
ENZA t=10cm 4.6+ 4.0 12.8 + 2.2 5.8 6.3 7.6 43.30] nf
it A
Avh-nys)” t=8cm + 5.8 + 5.80| nf
iy £=3cm + 5.8 + 5.80| nf
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T4 SEFIAIE O FRAFE KK E S EH T (RT)
4 F M B S | BT
EEVIN EEVIN EEVIN EEVIN EEVIN EEVIN ik ik ik ik
1 2 3 4 5 6 1 2 3 4
AT
[5] % BT ve-T v 1.3
BT t=10cm__| 6.8 + 1.9 4+ + 2.1 1.900 3.0 17.00| nof
[5] % HAEITve-T v 4.3
AT t=15cm__| 3.50 300+ 9.60 + 1.7 4+ 1.7 4.30 4.70 5.70 38.50| nf
[ & AT v-T
BT t=24cm 47. 60 7.50 4+ 3.90 + + 5.4 121. 40 16. 70 3.70 206. 20| nf
i AR
AT t=15cm + + + 5.4 10.90 16.30 nf
i AT v-T
T A T £=20cm + + + 5.4 10.90 16.30| nf
s AT v-T
AR R T t=10cm + + + 1.2 1.00 2.20| nf
4t DT
Asiidffly | 1=5. OkmPA T 0.4 0.5 + 0.2 + + 0.1 0.10 8.1 0.7 0.20
3.20 + + + 0.1 0. 40
+ + + 0.4 0.1
0.6
+ + + 0.1
3.60 0.50 4+ 0.20 + 0.00 + 1.30 0.10 8.10 1.20 0.20 15.20] m3
m3
PEBEALER TAT 7 15. 20 2.35 35.72] t
4t DT 0.1 0.2
Comkififfly | 1L=5. OkmPA T 0.6 0.5+ 1.7 + 0.3 + 0.10 0.70 0.8 1.0 6.00] m3
m3 t
PEBENLER VA 6. 00 2.35 14.10] t
F AR W3 - 0.00 + 0.00 = 0.00 0.00[ m3




B E BB R EHRD

24 SR O AR N R AR AR A T T g (RT)
ZA Lz # | BT
LGEN LGEN LGEN LGEN LGEN LGEN ik ik ik ik
EiiT 1 2 4 6 1 2 3 4
WE AL E =L
Aigg L ¢ 25 + + + + +199.9 + + = 199.9] m
I ¢ 40 275.2  + + + + + + + = 275.2] m
TSHEFET ¢ 25 + + + + +  60.0 + + = 60| H
U ¢ 40 72 + + + + + + + = 72 ¢
RYx=F L g
A T ¢ 50 + + 266.50 + 5.00 + 287.30 + + 317.60 + 63. 10 23.00 = 962.5] m
I ¢ 75 +  67.80 + + + + + + = 67.8] m
U ¢ 100 + + + + + + + 392.40 = 392.4] m
RY=F L&
MET @ ¢ 50 + + 14+ 1 + 18+ + 13 4+ 1 = 47| T
n ¢ 75 + 5 + + + + + + = 5| i
" ¢ 100 + + + + + + + 15 = 15| T
Ji%
J ¢ 50 + + 50 + 2 + 56 + + 60 + 16 5 = 189] A1
Ji
A ¢ 75 + 12 + + + + + + = 12| .
Ji%
/U ¢ 100 + + + + + + + 79 = 79| H
SEHET T
A LIAZ ¢ 25 + + + + + 4 + + = 4 0
J ¢ 40 4 + + + + + + + = 4 ¢
A1 =T
MEET o THLLT + 1 + 1 + 1 + + + 2 + 2 2 = 9] n
7 ¢ 100 + + + + + + + 2 = 21 ¢
BT RY b W=15cm 275.2 +  67.8 + 266.5 + 5.0 + 287.3 + 199.9 + 317.6 + 392.4 63. 1 23.0 =] 1,897.8] m
AT
WE AL e =L
G T ¢ 25 + + + + + 15 n ¥ . 5] o
U ¢ 40 14 + + + + + + + = 14] 1
RYoF L&
DT 1T ¢ 50 + + 14 + 2 + 17 + + 19 + 4 2 = 58| I
J ¢ 75 + 4 + + + + + + = 4 ¢
/U ¢ 100 + + + + + + + 19 = 191 A
#f‘LEL
) FpakiE L ¢ 25 + + + + + 2 + + = 2| 3
J ¢ 40 2 + + + + + + + = o X
" ¢ 50 + + 2 + 1 + 3 + + 3 + 2 1 = 12| Jt
J ¢ 75 + 1 + + + + + + = 1| 3
7 ¢ 100 + + + + + + + 2 = o X
fEiFpaakiE T DP=0. 60m 2 + 1 + 2 + 1 + 3 + 2 + 3 + 2 2 1 = 19| It
R PP ¢ 40 360. 3 = 360.3| m
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Td4 SERALE O FR ARG K E S EE T4 (RT)
4 b M B B | HAT
EEVIN EEVIN EEVIN EEVIN EEVIN EEVIN Hk Hk Hk ik
BB 1 2 3 4 5 6 1 2 3 4
HIVPliffi 1 25
B HIVP + + + 49 19 A
¢ 40
" HIVP 71 + + + 71
¢ 50
H HIVP + + + 1 1 S
¢ 25X 25
F—X HIVP + + + 1 1 &
¢ 25X 90°
LR HIVP + + + 3 3 1l
¢ 25X 45°
U HIVP + + + 5 5 &
¢ 25X 22°
AV HIVP + + + 2 2 &
¢ 25X 11°
n HIVP + + + 3 3 &
¢ 40X 90°
TR HIVP 1 + + + 1 &
¢ 40 X 45°
” HIVP 2 + + + 92 ®
¢ 40X 22°
” HIVP 4 + + + 4 ®
¢ 40X 11°
AU HIVP 4 + + + 4 &
b 25
AN HIVP + + + 46 46 (65}
¢ 40
n HIVP 61 + + + 61 &
¢ 50X 25
VYo —t— HIVP + + + 1 1 &
F VLT | HIVPE
(o % $ 25 + + 2 2 %
” ¢ 40 2 + + + 92 I
EEBR LA
SNVTRY Y b ¢ 25 + + + 4 4 &
i ¢ 40 4 + + + 4 1
HPPEJT % 1 ¢ 50
[iE & HPPE-JW + 48 + 1 + 51 55 12 4 171 N
HPPE# 52 1 ¢ 50
[EL g4 HPPE-JW + 4 + + 12 8 1 1 26 N
HPPEJT % 1 675
[iEN & HPPE-JW + 11 + + 11 A
HPPE# 52 675
A HPPE-JW + 3 + + 3 A
HPPEJT % 1 ¢ 100
[EL g4 HPPE-JW + + + 70 70 A
HPPE# 52 ¢ 100
A HPPE-JW + + + 7 7 A
HPPE# 52 ¢ 50X 50
F—X HPPE-JW + + + 1 1 2 &
HPPE# 52 ¢ 75X 50
F—X HPPE-JW + 2 + + 2 &
HPPER % 1 ¢ 50X 22°
ith Ee HPPE-]JW + + + 1 1 {#
HPPEJT %% 1 ¢ 50X 11°
il & HPPE-JW + + + 2 1 1 4 1




R R FH R EMH
THES TRARE ORI E R

4 R ) B | BT
a7k a7k a7k a7k a7k a7k ik ik ik ik
ERE 1 2 3 4 5 6 1 2 3 4
HPPEi % 1 ¢ 50X90°
i HPPE—JW + + 7 + + 6 + + 1 + + + = 14 1l
HPPE] 5z 1 ¢ 50X 45°
i HPPE—JW + + 4 + + 4 + + 6 + + 1 + = 15 1l
HPPE] 5 1 ¢ 50X 22°
ith i HPPE-JW + + + + 2 + + 4 + + + = 6 1
HPPER 2 1 $50X11°
i HPPE-JW + + 1 + + 1 + + 1 + + + = 3 &l
HPPE i 1 $ 75X 50
LYo —H— HPPE-JW + + + + 1 + + + + + = 1 &
HPPER 2 1 ¢ 75X 45°
ith i HPPE-JW + 1 + + + + + + + + = 1 1
HPPERISZ 1 & 75X 22°
ith i HPPE-JW + 1 + + + + + + + + = 1 1
HPPER &1 | ¢ 100X 90°
ith i HPPE-JW + + + + + + + 5 + + = 5 1
HPPER &1 | ¢ 100X 11°
ith i HPPE-JW + + + + + + + 2 + + = 2 1
HPPEWZ 1 | ¢ 100X 90°
ith i HPPE-JW + + + + + + + 3 + + = 3 1
HPPERiS2 1 | ¢ 100X 45°
ith i HPPE-JW + + + + + + + 6 + + = 6 1
HPPEWSZ 1 | ¢ 100X 22°
ith i HPPE-JW + + + + + + + 4 + + = 4 1
HPPERiSZ 1 | ¢ 100X 11°
ith i HPPE-JW + + + + + + + 1 + + = 1 1
EF ¢ 50
ek HPPE—JW + + 2 + 1 + 3 + + + + + = 6 1A
¢ 75
i HPPE-JW + 1 + + + + + + + + = 1 &
¢ 100
i HPPE-JW + + + + + + + 1 + + = 1 &
EF ¢ 50
Xy v/ HPPE—JW + + + + 1 + + + + + = 1 &l
PVVaA v b ¢ 50 + + 1 + 1 + + 1 + 2 + + 2 + 2 = 9 &
i ¢ 75 + 1 + + + + + + + + = 1 &
PVYaA b
A BRI V- ¢ 100 + + + + + + + 2 + + = 2 1
[An=Iis ¢ 50 + + 2 + 1 + 3 + + 3 + + 2 + 1 = 12 {1
i ¢ 75 + 1 + + + + + + + + = 1 &
i ¢ 100 + + + + + + + 2 + + = 2 &
FEE ORIE) MSN-SLU1 2 + 1 + 2 + 1 + 3 + 2 + 3 + 2 + 2 + 1 = 19 il
o (R Pt | MSN-K - SLUL 2+ 1 + 2+ 1 T S S U S S A "
MSN7K 38
7" IAFy ) B JEE 0TK 2 + 1 + 2 + 1 + 3 + 2 + 3 + 2 + 2 + 1 = 19 1
JEERR
UL ZE 300 X 600 X 100 2 + 1 + 2 + 1 + 3 + 2 + 3 + 2 + 2 + 1 = 19 1A
HEEFR Y — M WE150mm m m/ %
INUESAR 50m#& 1,897.8 =~ 50 = 37.96 38 %




